EBV, BMLF1,g0 - 288

CMV, pp65495 - 503

IAV, M15g _ 66

IAV, PB1-F26, 70

IAV, NP366 - 374

IAV, PA24 _ 233

IAV, PB1703 - 711

mCMV, m139419 — 426

mCMV, M38316 - 323

mCMV, M45985 —993

TCRGP

B.3: AUC =0.818
a,all.___ AUC = 0.877
a, 3 AUC = 0.862 |

B.all._ AUC =0.871

B.3: AUC = 0.587 |

a,all.___ AUC = 0.787 |
a, 3: AUC = 0.759 |

B,3: AUC = 0.782
a,al:__ AUC =0.768 |
a, 3: AUC = 0.769 |

B.3: AUC = 0.822
a,all.___ AUC = 0.801
a, 3: AUC = 0.753 |

B, 3: AUC = 0.896
a,all:  AUC = 0.847 |
a3 AUC = 0.821

B,3: AUC = 0.939
a,all:  AUC = 0.930
a, 3: AUC = 0.882

B.all:  AUC=0.919
B, 3: AUC =0.913
a,all.___ AUC = 0.929
a, 3: AUC = 0.862 |

B, 3: AUC =0.721
a, all: AUC = 0.821
a, 3: AUC = 0.844

|
TI

aB,3:  AUC = 0.926
B, all: AUC =0.924
B.3: AUC = 0.917
a,al: __ AUC = 0.902
a, 3: AUC = 0.868 |

B.all:  AUC =0.923
B.3: AUC = 0.891 |
a,all:  AUC =0.916
Q, 3: AUC = 0.851

o
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TCRdist

B.3: AUC =0.816
a,all.  AUC=0.778
Qa, 3: AUC = 0.821

B.al. __ AUC =0.670

B.3: AUC = 0.636 |
a,all:  AUC = 0.822

a,3: AUC = 0.672 |

B.3.  AUC=0.774
a,al:__ AUC = 0.686 |
a, 3: AUC = 0.716 |

B.3: AUC = 0.802 |
a,al. __AUC = 0.636 |
a, 3: AUC = 0.729 |

B,3: AUC = 0.841
a,all:  AUC = 0.709 |
a, 3 AUC = 0.781

B,3: AUC = 0.887
a,al.___ AUC = 0.777
a, 3: AUC = 0.869

B, all: AUC = 0.844

B.3: AUC = 0.901

a, all: AUC =0.711
a, 3: AUC = 0.849 |

B.3: AUC = 0.656
a, all: AUC = 0.683
a, 3: AUC = 0.769

aB,3:  AUC =0.921

B, all: AUC =0.914

B, 3: AUC = 0.920

a, all: AUC =0.789
a,3: AUC = 0.844

B, all: AUC = 0.838
B, 3: AUC = 0.846 |
a, all: AUC =0.772
a,3: AUC = 0.796

o
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